
1. Match following figures with the correct numbers. 5m

ÁøÏ+~ u§eTà\qT n+¬ø\‘√ ø£\T|ü⁄eTT

2. Write 1 to 10 numbers in the wagons in order. 5m

ÁøÏ+~ ¬s’\T uÀ^\˝À 1`10 n+¬ø\qT es¡Tdü>± Áyêj·TTeTT
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3. Write the number which comes after.  5m

‘·s¡Tyê‹ n+¬ø\qT Áyêj·TTeTT.

4. Write the between number.  5m

n+¬ø\ eT<Ûä́ ˝À e#˚Ã n+¬øqT Áyêj·TTeTT.

1 7

5 9

3

2 6

1 4

74

   3

   8

   6

   9
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1. Write the expanded form.  ÁøÏ+~ dü+K´\qT $düÔ]+#·TeTT. 3x1=3

a) 72 =…………………….+………………….

b) 56 =…………………….+………………….

c) 93 =…………………….+………………….

2. Write the short form.

ÁøÏ+~ $düÔs¡D\qT dü+øÏå|üÔ dü+K´>± Áyêj·TTeTT. 3x1=3

a) 50+6 =……………………

b) 90+8 =……………………

c) 80+4 =…………………….

3. Colour the flower having bigger number. 2X1=2

ô|<ä› dü+K´ ø£*–q |ü⁄e⁄«≈£î s¡+>∑T\T y˚j·TTeTT.
1.
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4. Colour the flowers having Smaller number 2X1=2

∫qï dü+K´ ø£*–q |ü⁄e⁄«≈£î s¡+>∑T\T y˚j·TTeTT.

1)

2)

5. Use the  Suitable Symbols (>,<,=). 2X1=2

düs¡sTTq >∑Ts¡TÔqT ÁøÏ+~ dü+K´\ eT<Ûä́  ñ+#·TeTT
(a) 40 …………….. 30

(b) 17 …………….. 71

(b) 70 …………….. 50

(d) 45 …………….. 45

6. Match the following »‘·|üs¡#·+&ç 4x1=4

a) 60+5                                     1. 40

b) Nearest ten of 39                 2. 40+6

C) 46                                        3. 56

d) Fifty Six                               4. 65

7. Write the numbers in Ascending & descending order 4X1=4

ÁøÏ+~ dü+K´\qT Äs√Vü≤D & nes√Vü≤D Áø£eT+˝À Áyêj·TTeTT.
a) 30, 80, 60

Ascending order - Äs√Vü≤D Áø£eT+ ...........................................................…

Descending order - nes√Vü≤D Áø£eT+............................................................

b) 41, 67, 28

Ascending order - Äs√Vü≤D Áø£eT+ ...........................................................…

Descending order - nes√Vü≤D Áø£eT+............................................................
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1. Do the following problems. (8x1=8m)

ÁøÏ+~ …̋ø£ÿ\T #˚j·T+&ç.

2. Write the number in words. (1x1=1m)

ÁøÏ+~ dü+K´qT nø£åsê\˝À sêj·T+&ç.
      98 : ____________

3. Write the numbers expanded form. (2x1=2m)

ÁøÏ+~ dü+K´\qT $düÔs¡D s¡÷|ü+˝À sêj·T+&ç.
    a. 469 :

    b. 801 :

4. Write the place value of underlined digit in the following. (2x1=2m)

ÁøÏ+<ä ^j·Tã&çq n+¬ø jÓTTø£ÿ kÕúq $\TeqT sêj·T+&ç.
    a. 78 :

    b. 579 :

b.     8   6

   +   1  4

a.     2   6

   +   3  8
d.     7   9

   +   2  9

c.     6   8

   +   2  4

e. 42x2               f. 9x8                 g.12    4                      h.12    8.. ..
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5. Arrange the following numbers in assending and descending order.

ÁøÏ+~ dü+K´\qT Äs√Vü≤D, nes√Vü≤D Áø£eT+˝À sêj·T+&ç. (2x2=4m)

a. 10, 40, 20

Assending order Äs√Vü≤D Áø£eT+
Descending order nes√Vü≤D Áø£eT+
b. 128, 456, 80

Assending order Äs√Vü≤D Áø£eT+
Descending order nes√Vü≤D Áø£eT+

6. Compare the numbers with suitable symbols (>,<,=) (3x1=3m)

dü¬s’q >∑Ts¡TÔ\qT (>,<,=) ñ|üjÓ÷–+∫ ÁøÏ+~ dü+K´\qT b˛\Ã+&ç.
a. 156_______256

b. 20________15

c. 68________68
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1. Do the following problems. (4x1=4m)

ÁøÏ+~ …̋ø£ÿ\T #˚j·T+&ç

2. Write expanded and short form of the following. (4x1=4m)

ÁøÏ+~ yê{ÏøÏ dü+øÏå|üÔ / $düÔs¡D s¡÷bÕ\T sêj·T+&ç
      a. 600 + 40 + 8 : ____________

      b. 9000 + 20 + 1 : ____________

      c. 867 : ____________

      d. 3205 : ____________

3. Write the numbers in words. (2x1=2m)

ÁøÏ+~ dü+K´\qT nø£åsê\˝À sêj·T+&ç
a. 892 :

b. 3956 :

b.    964

   -   355

a.     284

   +   328
d.     497   9c.     586x5 ..
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4. Arrange the following lenths in Assending order. (2x1=2m)

ÁøÏ+~ bı&Ée⁄\qT Äs√Vü≤D Áø£eT+˝À neTs¡Ã+&ç.
 1. 8m 8MT   10cm 10ôd+.MT    5m 5 MT    20cm 20ôd+.MT

Ascending order Äs√Vü≤D Áø£eT+ :

5. Read the clock and write the time. (1x1=1m)

>∑&çj·÷s¡+˝À düeTj·÷ìï #·~$ sêj·T+&ç.

6. Fill in the table. (4x1=4m)

ÁøÏ+~ |ü{Ïºø£qT |üP]+#·+&ç.

7. Solve the problems. ÁøÏ+~ düeTdǘ \T kÕ~Û+#·+&ç. (1x3=3m)

A box contains 8 oranges. If there are 6 such boxes how many aranges

   will be there in total?

ˇø£ ô|f…º̋ À 8 Hê]+» |ü+&ÉT¢ ñHêïsTT. 6 ô|f…º\˝À mìï Hê]+» |ü+&ÉT¢ ñ+{≤sTT.

S.no.         Object            shape      number of corners   number of edges

e.dü+K´    edüTÔe⁄       Äø±s¡+ ù|s¡T      eT÷\dü+K´         n+#·T\ dü+K´
Match Box

n–Zô|f…º
Ball

ã+‹
Socker cap

CÀø£sY{À|æ
Chalk piece box

#êø˘|”dt &Éu≤“
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1.  Do the following problems.  ÁøÏ+~ düeTdǘ \qT |ü]wüÿ]+#·+&ç (4x1=4m)

2. Write the following in shortended and expanded from and words.

dü+øÏå|üÔ $düÔs¡D s¡÷|ü+˝À sêdæ nø£åsê\˝À sêj·T+&ç (2x1=2m)

     a. 10 Thousands + 5 Hundreds + 6 Tens + 7 Ones : ______________

      10y˚\T           5 e+<ä\T    6 |ü<äT\T  7 ˇø£≥T¢
      b. 10829 : ____________

3. Find the sum of place values of 7 in the following numbers. (2x1=2m)

7 kÕúq $\Te\ yÓTT‘·Ô+ m+‘·?
    a. 7289 :

    b. 27877 :
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4. Fill in the blanks. ÁøÏ+~ U≤∞\T |üP]+#·+&ç. (2x1=2m)

     a. Successor to 1000 : _________

  1000øÏ ‘·s¡Tyê‘· dü+K´
b. Predecessor  1081 : ____________

  1081 øÏ eTT+<äT dü+K´

5. Fill in the blanks. U≤∞\T |üP]+#·+&ç (2x1=2m)

    a. Largest 3-digit number using 3,7,8 : _____________

   3,7,8 \qT ñ|üjÓ÷–+∫ $TøÏÿ* ô|<ä› dü+K´ sêj·T+&ç.
    b. Largest 3-digit number using 2,0,9 : _____________

   2,0,9 \qT ñ|üjÓ÷–+∫ $TøÏÿ* ô|<ä› dü+K´ sêj·T+&ç.

6. Round-off each of the following numbers to the nearest hundred.

100\qT düe]+#·+&ç. (2x1=2m)

    a. 1451 : _______________      b. 6567 ; _______________

7. Put the correct symbol (<, > , = ) (2x1=2m)

dü¬s’q >∑Ts¡TÔ\T ñ|üjÓ÷–+#·+&ç (<, > , = )

    a. 14851  _____ 14859      b. 9894 _____  9498

8. Solve the problems. ÁøÏ+~ düeTdǘ qT |ü]wüÿ]+#·+&ç. (2x2=4m)

    a. Jaya has Rs.4500.Babu has  Rs.500 more than that of Jaya. How much

   money is with Babu?

  »j·T e<ä› s¡÷.4500 ñqï$. u≤ãT <ä>∑Zs¡ »j·T e<ä› ø£+fÒ s¡÷.500 m≈£îÿe ñHêïsTT.
  nsTT‘˚ u≤ãT e<ä› ñqï kıyÓTà+‘·?

    b. To set 9500 how much we need to add 3650 ?

   9500 sêe&ÜìøÏ 3650 ≈£î m+‘· ø£\bÕ*?
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